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Note: Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the
answer-book. Cutting or filling two or more circles will result in zero mark in that question,

at. 15
I, Aline segment hasonly  mid-point:
(A) Four (B) Two (C) Three (D) One
2, Equality of two ratios is called:
(A) Ratio (B) Proportion (C) Congruent (D) Equalny
J.  If the length and breadth of a rectangle are a and b then the area will be;
(A) ath (B) a-b (C)axb (D).
4. congruent triangles can be made by joiing the mid-points of the sides nf a triangle:
(A) Three (B) Four (C) Five (D) Two
16
5 If ll' | =0 then x is equal to:
(A) 9 B) -6 (C) 6 D) -9

6. The Radical form of 4% is:
(A) ¢ B) g ©) 7 (N
7. The value of I“L’[E) I$:

logp |
@ (C) logp - log g (D) logg-logp

8, (3432)3-42) is equa

(A) logp + logg (B)

(A) 7 (B) -7 (€) -1 (D) |
9. For the value of m X'+ 4x + m will become a perfect square:

(A) 8 (B) -8 (C) 4 (D) 16
10 LCM of s+ b and a* - b s

(A) &+ (B) a*-b? (C) a* b’ (D) a-b
11, Ifthe value of x is not larger than 10, then:

(A) x28 (B) x<10 (C) x< 10 D) x>10
12, Ify=2x+1and for x=2,then y is equal to:

(A) 2 (B) 3 (C) 4 (D) 3
13. Mid-point of the points (0,0) and (2,2) is:

(A) (I, 1) (B) (1.0) (C) (0. 1) D) (-1,-1)

14, Number of lines can be drawn from two points:

(A) | (B) 2 (C) 3 Unlimite
« 15, In a parallelogram opposite sides are:
(A) Non-opposite  (B) Not Congruent () Concurrent . e




